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All questions are compulsory.
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The question paper consists of 34 questions divided into four sections A, B, C and D. Section-
A comprises of 8 multiple choice questions of 1 mark each: Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and SE{l'lGI‘l—

1D comprises of 11 questions of 4 marks each.
58 W9 uH § i e A §1

There is no overall choice in this question paper
Serdeted T WA i g

Use of calculator is not permitted.
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CQuestion numbers 1 to 8 carry 1 mark each.

e o= (2" x 3" x5") 3 b=(2"x 3" x 5) & T HCF(o, b) T :

(a) gma (b) 180 Uy 360 (d)
4 7

ifa-—{z ><3 X5 :Iaﬂdb—{Z ¥ 3 ®5), then HCF {a, &) is equal to :

40



{a) 900 {b} 180 {c) 360 (d) 540

2 5 31 F TE F HEA, W 12,15 9¥W 36 A fausa &, e @

(a} 95000 (b) 99900 (c) 99870 (d) 99400
The greatest number of 5 digits which is exactly divisible by 12, 15 and 36
is:

(a) 93000 (b) 93900 {c) 99870 , {d 53400
3 fG o T B TTUG ax2+bx+cF AR S, G2+ RIHIHA T :
Eﬁl TR Zca = bz
(A) = (B) E
2cn— b $2 =2 ' o
O = B} e .
i L -
If a andp are the zerces of the polynomial ax2+br+c ~gten Hie walye of
az .[. BE:
bz R Py o !1?
(A) = (B) =
2ea— b {:2 AT L
© _— ol
n

ﬂﬁax{—h}r:—-a?—-bi%ﬁm bx+ay=ﬂ%, dl e+ y) & HA €

@ a-b (b) b-a G
If ax + by=az— b:r and bx +ay=0, then the value of [x +y) is:
ay a-b (b) b—a (@@ a=b (d) a+b
5 AABCH sB=90° 3 BD L ACE! AfZAC=9cm SARAD=3cm &, T BD FTUF & :
a) 2-/2em (b) 3J2cm '
(c) 2+f5 em (d) 3.5 em
In A ABC, 2B =90° and BD L AC. if AC=9 cm and AD =3 cm then BD is equal to : :
(a} 22 cm (b) 32 em
() 25 cm (dd  35cm
6 sin® &1 3Afysas 98 &
1 -J'E_. 1
= B 2. 1 D e
(A - (B) - €] (D) =

The maximum value of sinf is :
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1 A5 1
A = B i St
A (B) z i 12
7 ‘qﬁsecl}+tanﬂ+1=i}%.ﬂﬁsecﬂ—lanﬂ FIOEE: 1
T (a) -1 (b} 1 (c) 0 (d) 2
if sech + tanfl +1 =0 then sach — tanf 15 :
(a) -1 (b) 1 (c) 0 (d) 2
8 mmsﬁ'ﬁﬁwﬁ%aﬁm%: 1
{A) n 9 98

B) m+D)TE

(C) (n) & W A (n+1)F TG A
fmtl

D i

L

In an arranged series of an even number of 2n terms the median is:

(A) nfterm

(B) (n+1)th E2rm

(C)  Mean of (n)* term and (n+ 1) term

I:D)' ["+ i ]w term

L2

]:an‘qa

@ve- / SECTION - B

mﬁwaﬁquﬁmmzmﬁw%l
Question numbers 9 to 14 carry 2 marks each.

) Eﬁaaﬂﬁqﬁamu“aﬂmwmn%mﬂﬁmﬁm%a -2
Check whether 12° can end with the digit 0 for any natural number n.

flff ﬁ%ﬁ%ﬂﬁﬁ%ﬁﬁﬂm?ﬁ'ﬁﬂi?ﬁﬁﬁmwm: : i

T AT

azn% %) TE IS R

“
2

¥ . : 7 3 :
Find a quadratic polynomial whose sum and product of zeroes are — = and = respectively.

Find also the zeroes.
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Find the quadratic polynomial whose sum of 2eroes is + 15 and one zero is — 3.

EV PQRWWW%%W&RW%i ﬁm#ﬁmﬁ;mz_—.zmz_ 2
PQR is an isosceles right angle triangle right angled at R. Prove that PQ*= 2PR*.
e
L3 ’T‘lﬁ”xtanﬁ“mtEﬂ“=5in3l}“m55[}°ﬁ,ﬁxﬂmﬂﬁﬂﬁﬁql 2
If x tan 45° cot 60° = sin 30° cos 60°, find the value of x,
14— e w2 HESRwRR) L T 2
= J1-10 H-d |2i-s "I Jais
AR 3 4 2 = 2 6
Find the mean of the follow] g frequency distribution -
Class 1-98 7 1139 21-30 31-40  [41-50
L Frequency |3 | 4 |2 5 6 f
@US-9/SECTION - C
T WA 15 | 24 7 USE gy 3 Heh FTE
Question numbers 15 to 24 carry 3 marks each,
15 s FIRTE 5 43 2 s amfeirg e 2 3

Prove that 4—3./5 is an irrational number.

e I

16 311@'@33Wﬁm%ﬁﬁﬁtﬂﬁﬂ'ﬁ’ﬁ3x-—5y=2ﬂ,6x—1[}y+4{}={}ﬂﬁ'gmﬂ_ﬂﬁmE:FE:I'?'TH 3
N =0 e it ferfigu |

L/({;:: \Usirtg graph, find whether the pair of linear equations 3x—5y =20, bx—10y+40=0 is
. %g{ msistence or inconsistent. Write its solution,

oy

Lol
N TG L'+ 227+ 877+ 120+ 18 1w I AGW X +5 F W T w, e px— q v wrw B 3
ﬁpﬁgﬁq%mﬁﬁﬁqf

When the polynomial x*+ 2% 4 8" +12x + 18 is divided by another polynomial ¥*+5, if the
remainder comes out to be P =q, find values of p and g
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The sum of a two digit number and the number obtained by reversing the order of digits is 154 and
the two digits differ by 2. Find the number.

L1~ H&ﬁ‘rﬁmmmaﬁgwﬁnﬂawacaﬁm:ﬁgﬁfnamﬁwuﬁiﬂam%wm% 3
IR B, o fag Fifau fis AD - AE

AB AC
If a line segment mterserts sides AB and AC of a AABC at D and E respectively and is parallel

AE
to BC, prove that 20 - AE
AB A

1}9/ SRR 8, ABC T s 3 Rl apipc i3
fag wifae fs ac2= AB2 +BC2— 2 BC.BD.

Ei// wﬁgﬁ%cﬁ,mﬁmﬁ:m[“ BJ.t,m§=1 2
.&Fn] l £=.
2 )I.:H.'lz

In any AABC, prove that : tan [

8
A aRezord T —“-‘J— = sinf sin {30° — §) =7 FK Hitow | : 3
,'Jlr /_..-' 1% tan {91’} ﬁ}
= 5
If 8 = 0°, evaluate __.‘.:L.. —sinf) sin {90° - #}.
1+ tan {u} =
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23— [T sifwal & 114 OF ' 0 aen’ 990 950 | A9: 398 W ah Sl ; 3
i a0-60 |60-70 |70-80 [(80-90 |90-100
AR 6 5 9 12 6
Draw the ‘less than type ogive’ for the following data and hence find the median from it.
Classes 50-60 |60-70 |70-80 |80-90 |90-100
Frequency 6 <) 9 12 6
WR (T H) Y

200 - 201|201 - 202 2ﬂz-zmizu3-zm 204 - 205|205 - 206
ezl %1 9= | 13 27 18 :w 1 1

w-Toaem 5ty g 9fF2 =1 91 9w 9 S |

The weights of tea in 70 packets are shown in the following table :
Wet
s 200 - 201 1201 - 202|202 - 203|203 - 204 204 - 205 205 - 206
(ngm): | 4 .
| No. of packets : 113 27 18 10 1 1
Find the mean weight of packets using step deviation method.

l

@UE-g/ SECTION - D

Y WA 25 | 34 ek Wedleh W9 4 3R @l 61
Question numbers 25 to 34 carry 4 marks each.
\__25 " uw fomer Ft wal X & 104 7 FE1 X T 96 Frenefl §1 e yeaden § famtidi = wwm w99 4
Haid dfaai | 30w e € 5 3 of S da ufeadi F e @ s & famnefi A &
(a) WS wE HI AR T s TR Wl S G Fa Sl
(b) W e A W X dun s X % foenflEi &t gen aa =i
(c) o8 e & faaner e & = stva €7

There are 104 students in class X and 96 students in dass IX in a school. In a house
examination the students are to be evenly seated in parallel rows such that no two adjacent
rows are of the same class.
Ld]  Find the maximum number of parallel rows of each class for the seating arrangement.
£ A{b)”  Also find the number of students of class IX and also of class X in a row.
Liel~  Whatis the objective of the school administration behind such an arrangement.



FEAG flx) = 14— 3723 + 2632 — 17x + 29 § 351 Sii2 91 T 50 W WS 9g9e g(x) =22~ 5x+3 ¥

26
/T'iam Tt w17
What must be added to the polynomial f{x)=14xt—37x3+ 26x2— 17x + 29, so that the resulting
polynomial is divisible by g(x)=2x2—5x+3?

@ UI BRI 9 i o @2 e 970 x4+ 3y =6 ; 2x -3y =12 W & 4f T &, 9 3= uE g

2¢ Wifa |
Check graphically, whether the pair of equations x+3y=6 ; 2x—3y=12 is consistent. If so,
than solve them graphically.
T
}ﬁf us g9ag s ABC ®, yo1 BC W fig D 3% wew & T BD=1 BC ¥ fug sifu fs
3
9AD’=7AB’.

In an equilateral triangle ABC, D is the point on the side BC, such that
BD= ~ BC. Prove that 9AD*=7AB>.
3
29 e w B | U oo 61 e 3w a) el % anl % AW & e & o fog $ifse fr gedd aen
& T 1 0 FHH R

Prove that in a triangle, if the square of one side is equal to the sum of the squares of the other
two sides, then the angle opposite the first side is a right angle.

A7 AT cosh + sind = p A9 sech + cosec =q &, i fa Fifw & q(p® - 1) =2p
If cosfl +sinf = p and sect + cosech =q, prove that q(pz— 1) =2p

31 =3 Fifere 250 68" . 2c¢otl5’  3tan 45 tan 20", tan 40° tan 50°. tan 70"

& T, -
cos 22 5 tan 75 5

2s5in 68" | 2cot15”  3tan 45" tan 20", tan 40° tan 50", tan 70°

"Evaluate :

cos 227 5 tan 75 5
32 o c g
- % sin® = ——e 3 d > 08, T9cosh FHN tand F T I FifET)
q"'*-&:-\_‘_‘_“ ‘:2 3 d3 ¥
If sin? = . _andd> 0, find the values of cosh and tan8.
L
e i
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@ A R G A =
' =1 - 200 _|350 - 1400 45{} 550 -
ﬁ% 250 400 | 450 | 600

45 0 |5 15

A : | 30
tribution, dr draw a mmu_lsaﬂve fr uency curve of less than 5¥
550 - 5@\

For ﬂ‘li_ following freg uE‘l‘iC\-" dis
Class : 200 - 2:-{) ‘.:-ﬂ 300 ‘ 300 - ?:5{3 3:5{] 4'-]0 400 - 450 | 450 - S0 ‘ 500 -5 550 |
45 25 40 ]{J 15

Ftequénc*_s,r: 30
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